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SECONDARY SCHOOL EXAMINATION 2018 (ANNUAL)

SOCIAL SCIENCE

TA 1w A '

e 63 # w16
Total No. of Questions: 63 ,,.‘E.“...;‘?.‘.‘.?..‘.";.,..p....:'u
T 2 %2 45 frre) (geila: 80)
(1ima: 2 Hrs. 45 Minutes) [Full Marks. 80|
wRnrela ¥ R Ade-
Instructions for the candidates:

! Rl e e svd wen ¥ A o @

Candxiates are coquired to their answers in their own words as far as practicabie
2 R I e @ RI gy aw il Ade wv &)

Figuces w1 the nght hand margin indicale fuft marks
3 T FF a%u GOl Jomyt ve- A F7 (oA T

Whiie answenng the questions, canckiate showukt adnere 10 the word bmxt as tar as prachcadio.
4 GV N U S el ) AR 15 P F1 WMl awm 2o By

15 Minutes of exlra tvne has beon ANoltod tur the £anaaxes 10 read the Questons carciully
s rﬂ?m—wvme)l)ém-alv-.zm-cr

his quashon paper is dnded info two sectrons - Section - A and Section - 8

6 AU . V240 GAe gy & oo 5T 10T B (TE @ A0 1 3@ Puitda 8) g

Uty gwTar dvid 1)) OMR - e 7 B3 1) udft 7w & ), N3 ot 9 @ w2 )
N wERe B TeAe/av Tt/ &T/ wg sl I TOv Wer ) g s v

T TR afPomr sy & |

in Section - A :here are 40 objective lype questions winch are compuisory each carryng 1 mark.
Darken the circle with blyebiack balf pen agawnst ihe corect opbon on OMA Sheo! provided (0 you.

Do not use WhitenerLiquid/Bisde/Nall on OMR Paper, otherwise the result witl be invalid.
7. @OT — ¥ A wwEnyw By @ anvin g7 5 [ 19 oy owhy 1 &) (53E @
oy 2 i e &)
e 3 T 5 7T (0110 0.5) & Fres & A 3 wwal ot Gare &
TFNR T F FF 3 T (0710 Q.9 & [3ed & BT 2 we #1 3ane &
SRforeT # #l 3 W (Q.1110 Q.13) & Soreat @ R 2 wraf @1 Garve )
¥l & B & T (Q.15 10 Q.19) & Brad vt 15 3 et 71 Sary ¢
ST W7 3 3T 3 WET (0.21 to Q.23) & Fre? & R 2 wvt @1 9ar 3t

73 IRy, g wos 1} ¢ & Erd7 4¥7 (@6, 0.10, Q.14 and Q.20) 7 77 & (1% &
e ¢ i Pulfa &y w2de 7 @ oy Res (G @ #9) & o sk w3 R 7 &

DA AR
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In Section « B. therg are nm.nmemmmmouwmmmsm
{each carryng 2 marks) as balow

History has § questions (0.1 1o 0.5). oul of winch any 3 questions fo be answered

Poltical Scrence has 3 questions (Q.7 10 Q.9). out of wihxch m}WroooansWOd
Economics has 3 questions (Q.11 ta Q.13), andezmwwansmM.
Geography has § questions (0.15 to 0.18), ot of winch any 3 questions (o be answered.

Disaster Management has 3 questions {Q.21 lo ©.23). out of which any 2 questions lo be
answered

Apart from ths, there are 4 Long Answer Type Questions (0.6, 0.10. Q.14 and 0.20). Each
Carryng 4 marks. Each question has an allemate oplion

R gar & gaeiide guaver @1 v gokem afdta #)

Use of any electronic appliances is stnctly prohibited.

Qe - & / SECTION-A

( w= / Objective Ty uestions

Tsr, spive, TR R, anferer (@ AT RaE

History, Geography, Political Science, Economics and Disaster Management

Prenfha vgReatta gl 3 @ fwe i (40x1=40)
Select the correct alternative out of following multiple choice questions.

&)

e foreres A af A= 2o & 49 g &

(A) &8 3% =R (B) &u 3k i

() Tv Mo (1) w R @il

Between which countries, the treaty of Brest Litovsh ook place?

(A) Russiaand haly (B} Russia am! France

(C) Russia and England (D) Russiy and Germany

ard 1946 A w9 o2 Rmom @ o 23 ara wishan A sy & o v 27
(A) feis B) 4=

(C) &-h B (D) T & N A

By which name the treaty between Pr.m;:c and Vicinam in March 1946 is known?
(A) Tientsin () Cumton

(C) Ho-Chi-Minh (D) None of these
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(B} 1933, &rpw
(D) 1924 Yy

In which annual session of congress, the proposal for demand of complete
independence was passed?

(C) 1931 =

(A) 1929, Lahore (B) 1933, Kolkata
(C) 1931, Karachi (D) 1924, Belgaum
I e nd WA BN EER B IR e R e 3 g & md?
(A) arrsrfy (B) sTmImR
) d= (D) T=Rm
Dunng which “Peasant Movement” the Litle of "Sardar™ was given to Vallabh Bhai
Patel?
(A) Bardoli (B) Abmedahad
(C) Kheda (D) Champaran
5. WA & f0 uear 30 voe 7 ofa gw?
«(A) 1838 (B) 13s8
(C) 1881 D)y 1919
When was the first “Fuctory Act™ passed in India?
(A) 1838 (B) I8S8
(C) 1881 th Ml
6. Gl ol & o1 fw @t = i gan?
(A) #fF T (B) wxm ad
©) s ot () = o
Which class of society was exploited by the capitalist class?
(A) Labour cluss (By Middle class
(C) Peasant class (D) Al classes

[211) Page 3 of 16 [Turn over



mﬁ"im«athﬁmmmwmmwﬁ

(A) affRas aify (B) strfie i
©) s iy (D) sifas @
Q
In modern era. which was the biggest revolution in the ficld of economy
(A) Commercial Revolution (B) Indusirial Revolution
(€©) Communist Revolution (D) Geographical Discovenes
8. TR # y&am e o A gd?
_(A) 1990 3 zve 3 (B) 1960 W g ¥
(C) 1970 3 zo ¥ (D) 1980 & <7 N
In which decade, globalisation was initiated?
(A) Decade of 1990 (B) Decade of 1960
(C) Decade of 1970 (D) Decade of 1980
9. T A wimm n g # v @
(A} wHoa (8) rn
(C) == (D) wwfa|
Which book was first printed by Gutenberg?
(A) The Quran (B) The Geeta
(C) The Hadis (D) The Bihle
10. R7a A w&wm 291 A yoora wet g32
(A) w@ (B) w4
C) &= (D) e
Where was the very first printing started in the world?
(A) India (B) Jupan
(C) China (D) Amcrica
11, 9% @ gom wfdbe ) afe 73 aren s gla o @2
(A) = (8) ghR=
(C) B (D) PheAE

Which of the following chemicals is responsible for damaging of breading process in
Frogs?
(A) Benzene (B) Urca
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12. fER & afy g
(A) o@nogs
(C) sty

A A Y ke 1 e w22

(B) w@RIgY

(D) e
Concentration of which of the following element has increased in water because of
excessive exploitation of underground water in Bihar.

(A) Fluoride (B) Chloride
(C) Anvenic (D) lron

13. «Ram @ awr 21 @ w9 2-

SA) T S e grfae W B wem @

(B) 31 wivemr

(C) Vd-wERm W §

(D) ule wwiar w=em @

Article 21 of the Indian Constitution relates 1o which of the following?
(A) Conservation of wild life and natural resources.

(B) Conservation of soil.

(C) Conservation of water resources

(D) Conservation of mineral resources
14. fOER @ e aRwa s &3 A v o1 dard 27

(A) 15 (B) 20
(C) 10 DY 7
What percent of geographical area in Bihar is under forest cover?
(A) 15 (B 20
() 10 0y 7
15. tyfafms A & fay R afFa ) samgee o 2
(A) Fha (B) A
(C) e (D) dFEmEe
Which of the following minerals arc used to manufacture aluminium?
(A) Manganese (B) Tin
(C) Iran _ (D) Bauxite
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16 e 3 fare wrow A et Frt & Rers A iR et 87

(A) am (B) N&vTES WU
AC) Toemm (D) e
Which of the Indian state has maximum possibilities for the development of Solur
Encrgy?
(A) Assam (B) Arunachal Pradesh
{C) Rajasthan (1) Mcghalaya
17. Ffafaa 8 @ ot oR dad 71 i &
(Ay Wh gatn (B) T ST
AC) Raefren v (D) R Igaw I
Which one of the following is a small scale industry?
(A) Sugar industry (B) Paper industry
(C) Toy industry (D) Electric cquipments industry
18. 27 A fhad RAAn anfifs da el 87
(A) 10 .(B) 7
{C) 15 (D) 5
How many Special Economic Zones (SEZ) arc there in the country?
(A) 10 By 7
(C) 15 (D) §
19, R & dan 3 I3 A ad g frad 82
(A) 6283 % & (B) 5283 %R
(C) 7283 (62 (D) 8500 A
What is the total length of railway lines in Bihar?
(A} 6283km (B) 5283km
(C) 7283km (D) 8500km
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20.

21.

22.

w-R A AR A A R ) ad nd S @ wn e a E
(A) et Jiarg (R) R Furd
(©) Heirem Y D) Brawrda @

The measurement of the height of a paricular place with the help of bench mark. is
known as -

(A) Spot height

(B) Special height
(C) Contour line

(D) Trigunomelric station

Wq ' e e B a1 7R3 § gy g afe @@ 2
(A W ¥R gEm # fa SR s,

(B) ww gw1 fevan ok o A & o s RAE

(€) arwa v wfemll ) T T wquia,

(D) RNEANE TR N LA F) aigra T AR A B
What do vou mean by sexual division? )

(A) Biological difference between male and female,

(B) The unequal roles given to male and female by the society.
(C) Ratio of male und female child,

(D) Female deprived of voting rights in democratic systems.
Aredty TN & a2 S 5T F T ) pu 98 ® -~

(A) TR O @ IR U AT 4 N R

(B) TR e vd F ToETR Wi el |

(C) T ad Y A o A @ aend ]E ¢

(D) FRAW # T T FAEFR T J4 |

Which of the following is true according to Indian Constitution?
(A) It prohibits discrimination on the basis of religion.

(B) T makes one rehigion as state rcligion.

(C) People are not free 10 accept any religion.

(D) Lack of voting right 10 women.
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23 W A AT 3 2 =y

(A ZE QIR 3 s & e &0 )

(B) w A vem 71 Fwwn I B

(C) +9a A\ & 20 Toh )

(D) A= aygrh & e zewa 73 T 2

Sharing of power is right because -

(A) It contains the diversity in itself.

(B) It weakens the unity of country.

(C) It delays the process of decision tking.

(Dy 1t minimises the confrontation among difTerent communities.
24. i 1975 A aiaEh # MLa Ry e w2

(AY 30 ad 3y g7 BT A

(B) AR gR7 ahd surrrS ot 4N

(C) 2% i JURISTA 7] Z3 o)

(D) e Oidt 7 wTeR & A

Why the year 1975 is well known in Indian politics?

(A) General elections were held that year.

(B) Sm. Indira Gandhi became Prime Minister.

(C) Emergency was declured in the country.

(D) The Government was formed by Janata Party.
78 fgr ¥ wyd afa F Age Pr-fafr & / R fmr?

(A) AR 48 (B) o R

(e gRwr A% (D) TAEETA TRV
Who Jead the Sampoorna Kranti in Bihar?

(A) Morarji Desai {B) Nitish Kumar

(C) Indira Gandhi (D) Jayprakash Narayan
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26.

27.

28,

T ) R P wrent @ wata &2

(A) RER, Teudy. wyomwer (B) wfRATg T, Trted
(C) 4. 7, eI, e (D) R, FERIG, TSN
To which Mates is *Narmada Valley Project™ related?

(A} Bihar, Uttur Pradesh, Madhva Pradesh.

(B) Tamilnadu, Keralu, Karnulaka.

() West Bengal. Uttar Pradesh, Punjub.

(D) Guijarat, Maharashtra, Madhya Pradesh

fFr=fafEa & A [ T3 B s men o 22

(A) F@R (B) =maufermi
(Cy fduA (D) TFRNE ¢
Which one of these is supposed as “Life of democracy™?
(A) Government (B) Judicnry

(Cr Constitution (D) Political Party
Teh-dad TR PRl @ R} R W anp ao #?

(A) W R By w? (B} WLTR W
(C) Swreafd w (D Fad W
Anti defection law is applicable on . BiharPaper.com
(A) MPand MLA (B) Prosident

(Cyr Vice President (D) All of these
T Gl (152E) TR @k T T g

(A) 1992 (B) 1399

(C) 2003 (D) 2004

When was the Janta dal (United) constituted?

(A 1992 By 199

(Cy 2003 (D 2004

fua 7 @ Ol su oEwen & wie a3 # aibilea 22
(A) & & By T era

(C) Arenins & (D) &= A A H

Which one of the following is included in the primary sector of the economy?

(A) Service sector (B) Agriculture sectar
(C) Industrial sector (D} None of these
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(A) 3efyg ) (B) e o agind
(©) ¥ femfin @) s d I A
The country whose per capita income is high. is called -
(A) Undeveloped (B) Developed
(C) Semi- developed (D) None of these
32. RER 3 fFa R @ ofy afde wm waRs &2
JA) gz (B) T
(C) Rrage (D) A=t
Which district of Bihar has highest per capita income”
(A) Patna (B) Gaya
(C) Sheohar (D) Nalanda
B. maTmm ANy s e w &
(A) R & iy 3fem (B) ®e Aw aifw FfBU
(C) oda unfty do (D) gome AT
Which is the Central Bank of India?
(A) Reserve Baok of India (B) State Bank of India
(C) Regional Rural Bank (D) Punjab Nationul Bank
34. zmmRe I 3) wdhveR e &1 e oaa?
(A) 1966 (B) 1980
(C) 1969 (D) 1975
When commercial banks were first nationalised?
(A) 1966 (B) 1980
(C) 1969 (D) 1975

35. =@ @ = w7 &2

(A) TEen (B) Y¥am
(C) Rem (D) & F i
What are the main sources of energy”? .

(A) Coal (B) Petroleum
(C) Electricity (D) Alof these
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6, A M & TR A 82

(A) m& wres (B) =

(C) w\a-wen (D) Z=t @ wh

Which of these is a multinationa) c«wnp;;ny'.’

(A) Ford Motors (B) Samsung

(C) Coca-Cola (D) All of these
37. Sohaan SRR fan T4 Fmr g 22

{A) 17 W (R) 15 =T

() 19 afa (D) 22 ket

When is Consumer Rights Day celebrated?

(A) 17 March (B) 1§ March

(C) 19 Apnl (D) 22 April

38, ufy R A3 @ O B 4 20 @ A A6 w0 1 AAS A Bu E @ ITAF T
frerga T asar &2

(A) R wrm (By 3oy Mg

What is the forum of complain for consumers if the price of any commodity or service
is more than 20lakhs and below 1Crore?

(A) District forum (R) State commission
(C) Nautional commission (D) None of these
39. | a1 WHR IRY ¥ 87 '
<(A) T[T A T BT AT (B) AU R Pbig bl A1)

(C) i era 9 3@ & A (DY T A Y T4
What is the main cause of Tsunami?

(A) Eaurth quake in sea (B) Earthquake on Ixkind
(C) FEurthquake on land arcas (Dy» None of these
40, YU P & TR gell W e I n:ﬁ !5\!! St 27
. 1 % (B) MRYdn
:2\: ?gﬁw (D T F g A
. The poiat on earth vertically above the I;'mhqgnkc centre is culled -
(A) Earth quake Centrc (B) Epi- Centre

(C) Centre (D) None of these
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@vs — 31/ SECTION=-B

gfEm / HISTORY
;”"'Mr#swaymmhm e (g A& D2
Instruction:-
. . 3x2=6)
Question no. I 10 5 is short answer type. Answer any 3 quesiions. (bl LS (@)
I wa¥Ram it w4 sl o, #A7
Non - couperation movement was a public movement. how? @)
2. B G e-gEhr F sfelfiae B TR nor @), AR
How coul and Iron industries riggered industrialisation?
3 0eD A 1 4§ anmzmsh B aw Aa? @

What siew problems were cmerged by towny?
4. e w4 a2 Ru-aar @ @wu # Aga R
How industrial revolution expanded the nature of world market?

5. et A gEoks = few 7@ e
How Gutenberg developed the printing machine”
e~
7¥7 wemr 6 O Tahg v 8 @) SPard & g vw ReR R 1 (T 3T ax1=4)

Question no. 6 is Long answer question which is compulsory, it has an alternative

question. (Total marks 4x1=4)
6. HRA2 WL =T H A W @ dagE A Maa 8 (4)
Discuss the contribution of Gandhiji towards Indian National movement.

1929 & Wfls Uwe 3 Fm vd g 9 e Y

Describe the causes and consequences of econumic crisiy of 1929,

[211] B Page 12¢1 16



¥ @l D e om & (gw v 22=4)
Instruction:-

Question no, 7 ¢, Yis shor Qnswer

. folt 2 Y P a3, Iype. Anywer any 2 questions. (Total marks 2>2=4)
‘ © ¥ @ ad-fas 2w e 2 @

State MY Wo provisions Which make Indiy g secular country

8 W N maah o FAN-397 ANE qm & @)
Whatare the different types of sharing of power?

P Rn 1 sor e o R T 2 e k) @)
Lack of education is u challenge 1o democracy? Explain.

A
77 e 10 & ol wer & ot st & g 1 RET R 1 (G v ax1=4)
Question no. 10 is Long answer iype which is compulsory, 1 alternative is also
given to the question. (Total marks 4xi=4)

10, w1 @@ 90w AR TE B aam a4 I we € ol gad weEs e
2 @
Who provides recognition to national and stste level political parties and what are the
criterions for it?

svar_/OR

warmwias Y g dieas & il ) 2878 g @ e g P
How the role of judiciary is a challenge to democracy? What are the measures for its
improvement?

[211] Page 130l 16
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HefIA

ECONOMICS
-

¥ war 94 #wlmaymmll:##ﬁiﬂdwmfl@wwml
Instruction .

Question no. 11 10 13 is short answer type, Answer any 2 questions. (Total marks 2)2=4)

1. mmﬁ'ﬂﬂmlt?mqmﬁu : @)
What is economie planning? Discuss in bricf?

12. &z ord am & @
What i< Credit Curd?

13. e & o qa @ @)

What do you understand by Globalisation?

RAde-
FET B 14 5w I vl w & P & gwd 1 P of &
Question mo. 14 is Lang answer question which is compulsory, 1 alternative is also

given to the question,
14, R - u«,ramvmmm&ma\aa‘aMﬁWW«h £ I @ am
fad) (@)

Explain with example, bow non- government organisation {NGO) contributes towards
the development of service sector?

Yy /OR

"I FREr AR 1906 ) @ R @ avig 9,
Describe the main features of “Consumer Protection Act 1986
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_— GEOGRAPHY
T U 15 W 19 ow ay gwha wer &1 gt @ A 3 @ gov
2 (g 3F P2=8)
Instruction:.
Question mo. 15 10 19 is short answer type. Answer any 3 questions. (Total marks Jaase;
15. s1ea & s wpif 3 18 3= w1 A B 7 @
In which pant of Indus, River delta have been found?
16, Rrvad sizres 71 avia ot @
What is “Chipko Movement™ L:xplain.
17. @0 3 aoe oo M@ A o s £ @
What do you mean by conservation and management of minerals?
18. #R-umat a0 wrureq &9 @ &2 @
How volar energy is produced”
19. ¥R & Wl @ sRffa Ram @ 78 weqa SRR @

Discuss the regional distribution of roads in Indsa.

RAdr-
¥ wemr 20 I Jorda wrT & wfvard & gerd ve REG R &) (87 I 4x1=4)

Instruction:-
Question no, 20 is long answer type which is compulsory, | alternative is also given

to the question, {Total marks 4x1=4)
20. ¥wa # YA R e sur e Hifvey {4)
Discuss the Information and Technology indusry in India?
3o SOR

wen @ am ¥ FUS gRT R~ gER & o @ wedd W wER R o
f&=# dia &1 Frzem oo Y
What are contour lines”? How the slopes are demonstrated with the help of contour

lines. Draw any five types.
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JTYRT FEEA

)ISASTE AGEMENT
A -
BT TN 21 D 23 me qg TAIT w1 &) gpt @ P 2 w1 TR W HAD
& @aﬂ?ﬂ-ﬂ)
Instruction:.

Question no. 21 ¢ 33 i« short anxwer fype. Answer any 2 questions. . (Total marks 2>2=4)

2 Qs Faqn 4 TR F Al T @
Discus the measures 1o prevent drougin.

2. T [ It qad D g B 2 M1 auT wengd @
Explain any three measures to minimize the devasttion caused by Teunanu.

23.

MIEF AN USF 3 @t g A e T g @

Discuss the role of Local administration in the nuinagement of sudden disaster.

e it L L T ——
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